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Two-intercepts Form

Score
TI:14
4 N
Express each equation in two-intercept form.
1) -y=-3x+3 2) 2x=10-y
3) -44x - 22y = -88 4) 2y =4(x+6) -y
5 y=9-3x 6) 11y +6) = -7x - 11
7) X+ 2=5y+4+7+4 2 8 —x=-8-1y
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Two-intercepts Form

Name

Score
Answer key
TI:14
\
Express each equation in two-intercept form.
1) -y=-3x+3 2) 2x=10-y
StEE! 5+t70 ]
3) -44x - 22y = -88 4) 2y =4(x+6) -y
X, Y _ X+ Y-
2ty =] 6t8 ="
5 y=9-3x 6) 11y +6) = -7x - 11
X,y _ X Y
3tg =1 mt7 =]
7) X+ 2=5y+4+7+4 2 8 —x=-8-y
X Y _ X+ X -
Sty =1 g +tog =1
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